: ~pv i =(pVv Q)
P g pvyg ﬂ{pvq} SR NG pvag
TIT, T F FLF. F T
TIFI T F F LT F T
Tt ot F T F F T
FIFF T T T T T

Since every entry in the root column is T —(p v g)
=3 —p A —gis a valid argument. .
b She does not dance well and she does not sing
beautifully :
2 a If the train leaves from gate 2, then it leaves
today and not from gate 8.
b v @V

3 a p: a p::)q -:p —q -;qx)p ﬂpkvq 7 a xisamultiple of 3 or a factor of 90 and is not
T T T F T T a multiple of 5
TF OF | F T T Fo b r=(pv—g)
FIT!I T | T|F F T e el vl gvirl =p R
Fi| F T T 7T T T TrYT T F F
' TIT F| T F F
b p=qe(-pvy TIFI|T T F F
4 a p.g —p —pvyg TI{FI|F F F F
T T F T FIT T T T T
i — FIiT!F T T T
T FLF F FIFIT T T T
ARE LN . FIF F| F T F -
FIF T T g
b i Ifx>3and2#9,pisTandgisF From P g r =g pvag r=(pv-9
the table —p v gis F. T 7T F T T
ii Ifx#3and«>9,pisFandgisT From T TF F T T
the table —p v gis T. TIFLT T T T
6 a i Picasso painted picture A or van Gogh did TIFF T T T
not paint picture A. FiT. 7T F F F
ii Picasso did not paint picture A and van FITIF F F T
Gogh painted picture A. FIFIT T T T
o FIFIF T T T
b p g -p -4 pvaqg —PAG
T T F F T F
T F F T T F
FIT T F F T
CFFLOT T T F
d i

e A logical contradiction.



